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IS 18Y 155 & I3 s 378 Y3 #3 857 & rydl 38 Y83 F9 :

i) OH YHE Y39 89 I8 14 YHS I& | H'S YHS #9d] I& |

(i) T YHE YIT 3E 457 [&F S5 ™ I - 4F X, ¥ W3 T |

(i) YZF <96 YHS (Y.H. 13 6) I, 13" €9 IT [EF YHE 2 Wa &7
J | EYHE ST #eIaT [Sa®y 237 o™ T |

(iv) YIHIET4YHS (Y.H. 73 10) I3, 73" feg IT 18 YHE 3 #d &7
J | R yHE €9 #agal [easy 1237 fam™ T |

(v YFTTIET 4 YA (YL.H. 11 3 14) I3, 173 [0 IT Bd YHS 4 W
g T | R YHE [eF #egd] [easy [e37 famm I 1 BF Y5 feg €
YITS WHIPHE WIS YHE & HTHS IS |

wi) JBIBeT & TIF o ETHT AAT |

43

YHS HIgHT 13 6 3 IT 18T YHS € 2 Ha T |

fa o falla n - 2 < .
1. fox wigarfefsa 5t ay, ag, a3, .. feg Aag 24-2 3, 37 26 o 45

- a 3 a
U3T 99 | 7 8

2. (a) x< BT IS AI :
2x2-2/2x+1=0
Cu
® k & BT We uI d9 fag ¥ = Swdt mlase
x2 + 5kx + 16 = 0 ¥ TTHI<IA M3 AH'S (999d) HS IS |

3. (a) wJdfe3d Bt : 293, 285, 277, ..., 53 < U=t ot farsdt u3T 9 |
Cu
(b) wHJd UfIS 40 U5 Yo »id & 73 U3T 3 98 7 78 I9T
< I& |
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J& fadt Agdt a9993™ A gat fed, a,b,c M3 d € H'G U3T J9 | 2
=L/ 0-10|10-20 | 20-30 | 30 —40 | 40— 50
TITITFT 5 7 5 b
Hoe? 957937 | 5 c d 30
Had J& o »idfan™ T 9U8d (mode) 240 J, 3T BUI 99937 ¥
U3T I 2
THBT UTB yigergT &f
Yoo (T 1e9) farest
0 — 100 140
100 — 200 230
200 — 300 270
300 — 400 x
400 — 500 150
39 1 feg, 0 999 @ d=d J | PQ »3 PR AUJH JUHS Ts |
fHu 9 f9 93999 PQOR fed Jadt 93997 J | 2
R
P >
o959 1
3 P.T.O.
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YHE Hign™ 7 3 10 35 IT 18d YHE € 3 Wd IS |

10.

waufe™® 3 AHL. w3 5 AHL. @ ¢ W&ecﬂ g9 g5 |
Waufa™ 5 H.H. @8 J99 @ fea fdg 3 »id
Y99 BUT mUIH ¥ ¥ A3 < 39&T J9 |

s (((L

feq 7o € 37 QuT ug™ feq vay # fq uret & 739 2 10 HY. Qug
J, 9yTr 7 fq feg yordt © fg = €97 a< 60° I w3 Yot ©
WOTg T BT d 30° I | yIt & B9t uzT a9 |

(a) fed &7 B9-Jadt AS3T (888) & WUd & »IUfS™H w3

89t = wiaut3 2:3 T W3 BT wfEss 1617 wE AL J |

g%6 &7 I8 A3l 43398 U3 &9 | (n= 27—2 Z2)

ey
b) 105 H.HL. »@Ufer™ T8 U3 € fog &7 @ § usa
3.5 H.H, »iguferm © w3 3 Al B9t © 8¢ &7 wWaof
(cones) feg wf&nr fapum | few 397 g wWam & faredt uzr

9 |

feg afgg 300 H.HT. I3t w3 120 FAHY. Ut T 1 few afog fog uet
20 faHinie €t 98 &% =g fggr T | 20 fHe feg, feg =fgg fI3s
Y3383 of ot 99 wadft, A=fa figet € 3t 8 At 3wyt &
8z It J 2
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YHE HIHT 11 3 14 35 IT 18 YHE € 4 #d I |

1. (a) 39 2 fe9, € Ja0 feq g P Bud foq ga § 999 =3
gdd I8 | BaT 297 § fed Wit HUTH duT A W3 B QUI AuTH
da<t J, W3 P Bu3 fed grdt Wit AUSH JuT, WUIH JuT AB

Cc Sug et T | fig a3 fg £ APB=90° T | 4

N\

Q
1957 2
ey
b) 939 3 feg, PQ M3 LM, O d=d @& far Jad Gud © mMHi3a
AUIH dUS I& | AYdw f9g ¢ Qug fod J9 AUIW JUT AB,
PQ & AM3 LM $ B BUg dedt J | fHT d3 fg £ AOB=90°. 4

P < A > Q

((O-Io

((O-I:)

B
93T 3
12. U33 < feg fdg X Sug 3 fex fadt udt s PQ = v Q =

o as 60° 7 | AT Y, 7 3la X © Bud 40 Ht. &t B9t Gua T,
5% Q T GO a< 45° I | Hizg pQ &t GOt w3 T Xp U
&3 | (V3 =1-732 &t =33 FJI) 4
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YIS miftnls - 1

AHTAS dHT T7 HIAE HEHT 99937 § Yd™ dd&" J | AHTAR dH I3
TEMT T HaAe BT BaT & SE Uy w3 Hidn et 99 48 J
fagt & W9 3 e wgas J | wes fafunr (ugrdt feurd) feg
HIS AT oH J | wedT J9d il Mye AHH 3 fegnmdasr
(MEUFI") & €9 99 Had TT |

398, fed AW IH 996 T8’ I J9d, fed HI® due ¥ B
It wts s < Uefes § €% 996 9deT J |

< 500 H. >

e e o o e M o voul o e pores i

o e e e e o e

==-8 R|-=:

400 HT. |5 &

zz:lp Qlz=:

LR L E L P L L
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1937 4

396 <f mfts 500 vt x 400 Ht. © »rfez © gy feg I | fis <
TR WT M3 38 € S afic € I UH © I U3d § 83 &

SHST 3! J | 799 x Hl. Mt < I3 997 uH wg w3 BT ©

Tt St AT (A9 9 939 4 feg fagfonr fapur J), 37

(a) PQ M3 QR Tt Jgvdei U3T 99, ddd PQRS <€ 979 U™H WH
W3 IS T Y3J T U3IEH 118400 =39 Hied T |

(b) MTE3 PQRS T UfgHY < U3T JJ |
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YIS Mfamis - 2
fAas ¥ fea i3 § fame widls $hi Judt StHaad HéY §

HHI U 3 77 Tawes € 96 IS feg 3adft I &t o3 feo
ffB™ Y39 © B fed & S 9t B © I Afgus It T |
AIdd & WHEs 99 feg J3t © o gz shr § 637 fas da<t 7 |
SBI g3 €™ Tdc & 100 USHT g < GHa < =3 © 3¢ I8
fog »wigg feds 13 | gz € 3 (usHh) 15 78 A7
15 7S U Ug 60 A 3 WS GHT &8 HadT § It fadhrt aidhu
J5 |

Or JTsH} T
(7St ) | o et
15 -20 2
20 - 25 4
25 -30 18
30 - 35 21
35 —-40 33
40 — 45 11
45 - 50 3
50 - 55 6
55 -60 2

(a) UTSHT Tda <t 99%d GHI U3 I |
(b) UTSHT gda & HTPHET™ (median) SHT U3™ a9 |




